


A B

C D

E

F

G

H

I

J

pg1 of8



M3X12  8pcs

M5X40   3pcs

M4X20   1PC

1PC

2pcs

5pcs M4X35   2PCS

1PC

pg2 of8

6X30  20pcs 10pcs

10pcs

M4x30mm  7pcs

A B C 

D E F 

G H I 

K J L 



Attach 2 cam bolts 

AB

C D

pg3 of8

each side of board 

Insert 2 wooden 
dowels(part#1)on 

C&D

side of board C&D
(part#4) on each 

A 

B 

D 

K 

A 

D 



clockwise to 

on each side of panel C&D. 
Insert 4 wooden dowels (part#1)  

A B
C D

I

pg4 of8

H

Make sure the magnet is on 
the bottom and face front

cam locks 
of panel A&B 

locks(part#3)
Insert 2 cam 

secure.

on each side

Turn

A 
C C 

A 

C C 

A A 



secure.
clockwise to 

bolts(part#4) to 
Attach 6 cam 

F

F

H

pg5 of8

C DA B

board F

Insert 4 wooden 
dowels(part#1)into 
board F

Insert 6 cam locks 
(part#3)into panel 
A&B&C&D.Turn
them

C 

D 

A 

A A 

A 

D 

D 

D D 

D 

C 
C 



Secure H&F with

6 screws(part#12).
Secure E&ABCD with

screw(part#12).

E

E

I

pg6of8

C DA B

Insert 4 wooden 
dowels(part#1)into 
board E

F
H

A 

L 

A A 

A 

L 
L L L L 

L 



pg7 of8

G

JE 

F 

G 

H 

G 
G 

E 

Loosen the screws attaching the hinges to 

Attach the hinges with screws(part#5).Adjust the

Finish by securing the hinges to the cabinet.

the opening prior to tightening the screws.
position of the hinges so the door lines up with

Door Aligning Instructions

the door itself and adjust their positioning
if required,then tighten the screws again.

Finish by securing the hinges to the door.



WALL

pg8of8

WALL

WALL

C 

I 

I 

J J 

J 


